Math 18.2 Honors Quiz 13 Version A

1. State Taylor’s Theorem with the integral form of the remainder term.
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2. State the ratio test for determining whether an infinite series converges.
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3. Prove the integration by parts formula: If f* and ¢’ are continuous then
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4. Solve the following integration problemS'
¥
: £ I/ !
(1) /vl~‘“2ﬂfd:€ v‘jﬁ*g (36 olu. = E"mf *E{f@“ey{% = L 2 %3’5‘1/

U= (4200 du=2da

xlzx‘éﬂ/? £ 97 L G3-de g-ta26
; 3 3 373
/6 i/ @7
(ii) sinzdr = /= Co5 Zat = j:f/ “
0 {: — A G ez A
; %
il 2T Lepa L L gy AL AE
y Ly&w | . Ve f2 7 fg & “p % & v z
=T
o - Z - 13
L ¢ 7
(iii) /a:ar.ctan( +at)dr = “’fmf%mwd@(
2&:/%«2’ ; du=2xdx = Qrcboms o sp= g;’i};rf?f
“{? e ? = 24
= L@mﬁmﬁ - f {%@ /) = Lucrctiny ”é--&C/'v‘%Z)
= f (e’«f%z‘)Mrfmf’W*m?"} - ’;f; b (1 {?w‘:e:“-’%jg",)
(1V) / dil? = Lo+ ““3%—“ “ (%‘?{,a s ’JCZ : K
S{. ﬁ:zmg\} I e g by a0 kot
w-w-“%' 3@"‘ g 2.
- {
T - Wg}m 4‘ “:{& "“"”"""’"""‘"’“M fﬁg?&a

K

SC., | R v m
- ""“‘”é?j“%* é‘igﬁ,\zﬁw%k



Math 182 Honors Quiz 13 Version A

5. Find the Taylor series with remainder for f(z) = In(1 +z?) expanded about a = 0.
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7. Determine whether the following infinite series converge and explain your answer.
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8. Find the volume generated by rotating the region bounded by z = 1, y = 1 and
y = 5 — x? about the z-axis.
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9. Find the length of the arc given beyx—ggmz——ln:c between ¥ = 1 and z = 2.
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